	1.
	When the bark is removed it interferes with the transport and
	
	1 mark

	
	protection functions leading to death/drying of the plant.
	
	
	

	
	
	
	
	
	
	
	

	2.
	
	
	
	
	
	
	

	
	
	Type of root
	
	Plants
	
	
	

	
	
	
	
	K
	
	
	1 mark

	
	
	
	
	L
	
	
	1 mark

	
	
	
	
	
	
	
	1 mark

	
	
	
	
	J
	
	
	

	
	
	
	
	
	
	

	3.
	a. M-Ticks and spiders
	(arachnida).
	
	1 mark

	
	b. M is eight legged while N is six legged.
	
	
	1 mark

	
	
	M has two body segments while N has three body segments. Any 1×1
	
	

	4.
	a. -Blood group O -ve
	
	
	
	1 mark

	
	
	-Blood group B –ve
	
	
	
	1 mark

	
	b. i) Diagram O -Artery.
	
	
	1 mark

	
	
	ii) Due to smaller/narrow lumen.
	
	
	1 mark

	5.
	a. -Wet dreams.
	
	
	
	1 mark

	
	
	-Broadening shoulders.
	
	
	

	
	
	-Voice breaks.
	
	Any 1×1
	
	

	
	b. -Menstruation begins.
	
	
	1 mark

	
	
	-Enlarging breasts.
	
	
	
	

	
	
	-Broadening hips.
	
	Any 1×1
	
	

	6.
	-To ensure constant water supply.
	
	
	1 mark

	
	-To save rainwater for use during dry season.
	
	
	

	
	-To save money spent on water bills.
	Any 1×1
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7.
	
	
	
	
	
	
	
	
	1 correct -1 mark

	
	
	
	
	
	
	
	
	
	2 and above correct -2

	
	
	
	
	
	
	
	
	
	marks

	
	
	
	
	
	
	
	
	

	8.
	Total score = B2 + B3 + B4
	
	
	1 mark

	
	OR
	
	= SUM (B2 : B4)
	
	
	

	
	
	
	
	
	
	
	
	
	

	9.
	
	Step 1
	Step 2
	
	Step 3
	
	Step 4
	
	Step 1,2 correct -1 mark

	
	
	
	
	
	
	
	
	
	Steps 1,2,3 correct – 2

	
	
	c
	d
	
	b
	
	a
	
	Marks

	
	
	
	
	
	
	
	All steps – 3 marks

	
	Award marks up to the next correct order only.
	

	
	
	

	10.
	a. The candle stopped burning because the amount of oxygen present
	1 mark

	
	in the gas jar was not enough to support burning.
	

	
	
	
	
	

	
	b. The water level rose.
	
	
	1 mark

	
	c. To occupy the space left by the used-up oxygen.
	1 mark

	
	
	
	
	
	
	
	
	

	
	d. 20 % .
	
	
	
	
	
	
	1 mark

	
	
	

	11.
	The balloon absorbed heat causing the air inside to expand.
	1 mark

	
	
	
	
	
	
	
	

	12.
	a. Force of gravity.
	
	
	
	
	
	1 mark

	
	
	

	
	b. Pulls all objects towards the centre of the earth.
	1 mark

	
	
	
	
	

	13.
	-Wear ear muffs (ear plugs).
	
	
	1 mark

	
	-Make their house sound proof.
	
	
	

	
	-Migrate to a less noisy place.
	
	Any 1×1
	

	14.
	
	
	
	
	
	
	
	
	1 mark

	
	
	
	
	
	
	
	
	
	1 mark

	
	
	
	
	
	
	
	
	
	1 mark

	
	TOTAL
	
	
	
	
	
	
	30
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